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~OBCDE=2AABE (FF % % )
N =2AMBC (2 % 7%)

=[]BPQM (F & % %)

OACFG=[]APQN (F % % %)

B c G ~OABMN=[]BPQM+[ JAPQN

=oO0BCDE+DOACFG
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(1)
b a
~_ |? (a+b)?=c*+4x:ab
al /c
—a%+2ab+b?=c?+2ab
c Y7 |a —a’+b*=c?
b
a b
(2)
b d b
c b b
i’a —>
c
b\ a at
a b

(= )% Ra Garfield by #2522 &

a

NE (a+b)2=13b><2+1c2
2 2 2
b . )
e (a2+2ab+b2)=ab+gc2
: a —>la2 +lb2=lc2
c 2% T2 T2

b s a?4+b?=c?
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waXb=(x+y)xh=cxh

X -'-hzﬂ

c

ab ab

a’b
~—=xb , ab*=ay
C

b ~a’=cx, b?=cy
wa’+b?=c(x+y)
(I FI W52
(Dp |

v (a-r)+(b-r)=c

f -'-rzé (a+b-c)
! Lo 11
b-r . 2ar+2br+2cr—2ab

1 1
—>5r(a+b+c)—5ab

ri ~r(a+b+c)=ab

~, e > (a+b-c)(a+b+c)=ab

a-r r —% (a®+2ab+b?-c*)=ab

~a’+b?=c?

Y “X:— =a:b , —:
Cc Cc



(@)

N
=

By theorem Ptolemy,we have

D S
"."AC-BD=AB-CD+AD-BC

~AC=BD=c,AB=CD=a,AD=BC=b
~c?=a%+b?

~

By circle power theorem,we have
*."AC?>=AE-DE

—>AC2=(AB-BE)-(AB+BD)

>AC?=(AB-BC)-(AB+BC)
>AC2=AB2-BC?
>BC2+AC2=AB?

. a*+b?=¢?

(2)i 2 & i & 5 3)
k .

\\ . ’ N

~ N
a =~ E
b ™
\\ 5
A . — ™ —>
\\ N
™
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¥ EF LAC**F > FGLAB** G- £ : AB =2FG - ’ u
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FIAEE_/FAB T & %

(2) Bt
BT a b3 = 8 A(x,Y1)B(x2,Y2)C(x1,Y2)

AB= (5 — %)+ (1 = 1)°

AB=BC? + AC?
~AB?=BC?+AC?

3235 ABCD ¥ 5 /BAC hT A 5 2 BC* B »

EF L AF » ~ AE 2 AAFE 22 AABE e & 38

#1171 Rt AAFE=Rt AABE(AAS) »

“11 AF=AB -(D

& RtAAGF # > %1 £FAG=45" » #7 12

G=FG

—2 —2 —2 2
AF =AG +FG =2FG -

—_—2 —2
4D @®: AB =2FG



#]2 ~ 4@ 142 ABCD ¥ » AB || DC » AB=8 » CD=2 » AC=8 » BD=6 > ;* &

2135 ABCD chm i [83 & 1 8  it E 48w i ] D c
f%:
b B & ST 5 L AB E(4eF 2) A B
v AF 1
PIAACE 28 4= 47 (255= 28(6-8°10))
5,2, chg —28 24 D C
P n® =7
45 ﬁz(zzg) x%:24
A B E
AF 2

#3~ 4oL B 1> F - 435 ABCD » ADT 7 BC » AB=AC » £BAC=90" » =
BD=BC » #£DEC e e - [98 & 25 — ¢ K F iE]

f#: .
W AD P B2 B R AD* F(de+ B 2)
X AB=AC » £A=90" ARF 1

#*AB=1 ~ AC=1 > BC=2 > FB=BC} "% =

> S

x BD=BC=v?2

4 ADFB # 2FDB=30°

x £DAC=2ACB=45 5
« 2DEC=T5° AR 2
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WAP=X (0< X < 10)

195 2 X %I 5 PBZ+PC2=B(2

i,
PB2=AB%+AP?=42+X? Nt
PC?=DC?+DP?=4%+(10 — X)?

H
PB2+P(2=32—20X+2X2=B(2=100
wEX=2V 8
(FH KR 2)
=~z
COL k&1
+0A? = 2 + yz
Letﬂ=r=1, then we have
A(xy) oo

Define(x,y)=r(cos 0,sin 9)
0 ~sin*0 + cos?*0 =1




//' *(asin®)?+(b-acos0)?=c?
/ —(asin®)?+(acos0)?*+b?-2abxcosf=c?
51,/’; il \c wsin?0 + cos?0 = 1
/ N\ ~.a%(sin?0+cos?0)+b?-2abxcos®=a%+b?-2abx cosf
/6 S ~.c?=a*+b?*-2abxcos0
acos8 b-acosB

()& yem
(1) a®+b%*=c?RIAABC 2.8 & = &7
(2) a®> + b% > c*PIAABC 4% = 47
(3) a® +b? < c?RIAABC H4% & = &7}

<G>

(1
% - = 475 ABC» BC=a » AC=b > AB=c » * 2(0=90°

Rypapiz 232
a’+b2 c?
2ab
d 302 S g32a® + b7 = c?
¥ #cos C=0

B2C=90°

cosC=

(2)
% - = 475 ABC» BC=a *» AC=b » AB=c > * 20< 90°

g apsz 23T
a?+4+b?c?

cosC=——>0
2ab

%3%cosC =X
Bla? + b? — ¢c? = 2abX
>a? + b? — 2abX = c?

>a? + b? > c?



(3)
% - = &7, ABC» BC=a » AC=b » AB=c » * 20< 90°

Rz L
cos C:M <0

2ab
%3%cosC=—-X
fla? + b? — ¢? = —2abX
>a? + b? + 2abX = c?
>a® + b? < c?

(FA %3 2 <3 ULEM)

(=2 )& =« 5] 222 (Inverse pythagorean theorem)

Zuh+-vh="ab
2 2 2
~h(u+v)=ab
u utv=c
o=
a S C= h
':a2+b2=c2=(ﬂ)2
N h
.I'I.I'r az bZ _ 1
a?b? ' a’b? h?
1,1 1
b EtET e
CD) K
(D2
s
/? i \_,\\d ) '.'a2+c2=(e2+f2)+(g2+h2)

vb?+d*=(f>+g*)+(e*+h?)
~a’+c’=b*+d?
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=3 &= &2cha #

'.'a2+c2=(e2+g2)+(f2+h2)
wb2+d?=(e?+h?)+(f>+g?)
~a4c?=b?%+d?
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1~ https://wk.baidu.com/view/28979783dd88d0d233d46a91?pcf=2&bfetype=new
2 ~ https://zhidao. baidu. com/question/188523504. html

3~ https://zh. wikipedia. org/wiki/%E5%8B%BE%ES%S2%A1%E5%AE%RIA%E7%90%86
4

5

~ http://wp. chjh. tp. edu. tw/blog/cheermath/files/2011/11/Pythagoras-Theorem. pdf
~ https://zh. wikipedia. org/wiki/%E6%AC%AT%ES%8 T%A0%E%8 T%8CHESUBESI THES%8 T%A0%EA%
BD%95
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